2. F1 IR EME (BE -3

L SR T & D 2 REZEHR)

% # Tl Bir
BE5E 500 mg/kg
TR i i
BEDME 12 11
TRAE A 2.1 2.2
+1.0 +1.7
LB FLH ORI 0.0 0.1
+0.0 =0.3
ZRE(%) 12/12 (100.0) 11/11 (100.0)
ZI63E(%) 1/12 (8.3)¥ 11111 (100.0)
EIRER 22.0 22.0
+0.0
FI g i3k 17.0 14.4
B +3.1
B 3553k 16.0 9.1V
¥ +4.3
% BRI (%) 94.10 6261V
+25.14
B EE(%) 81.30 87.00
+11.57
HEESE (%) 11 (300.0) 11/11 (100.0)
SIERE - -
WERE AR - 1/11
HEEIRE 13.0 78Y
2 7 +3.8
ﬁ HEA TR 130 7.8%
4 +3.8
B| IREFRK 13.0 737
+4.4
L (HE/RE) 0.30 (3/10) 0.76 (37/49)
Hi A2 B A A7 104 100.00 100.00
=+0.00
4 B ATFE(%) 100.00 90.91
2 +30.15
iy HREE - -
g [THRREE - -
i |EE(R) i 0H 5.9 684
: +0.4
4H 9.6 8.9
=11
i3 0R 5.4 63A
#0.3
47 9.2 8.3
+1.0
HEEINER) | 0-4H 3.7 22V
‘ 0.9
HEE 0-4R 3.8 2.1V
+0.9

— EERETREFRAL. T MR, AV P<0.05, AV : P<0.01.
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2. FlEMORBRAME HE—4 . BEER)

i #w:F0 JE:FI
e 0 plke 2 plkg 12 1 g/ke 60 u p/kg 300 kg | 300mgke
21 B e (A E 50,63 48.91 4560 48.03 50.44 42.19%
EER(Qp) +4.11 £5.29 +8.96 +4.54 +3.59 +6.83
A 1.725 1.683 1.578 1.631 1.722 1.546a
+0.189 -+0.186 +0.348 =0.191 +0.160 =+0.104
¥ 191.17 189.77 181.86 186.39 192.93 163.73a
(X10% +31.5] +31.79 +36.27 +22.59 +16.72 +19.43
FEE & 36.23 36.44 35.75 34.75 36.35 19.43% 4
(X 10%) +5.89 +5.11 +3.77 +3.47 #3.02 +936
A 1592 13.39 14.17 13.80 15.00 12.83a
(X10%) +4.36 +3.11 +2.71 +3.20 *2.76 +2.37
I | B ik E 48.96 45.63 43.69 45,11 48.81 42.05
+5.75 C 4.9 +9.34 +3.85 +4,06 +471
R 1.698 1.565 1.518 1.546 1.691 1.484
+0.261 +0.173 0,340 +0,150 +0.148 =+0.114
BRE 8.88 757 7.13 7.21 8.46 7.21
(X10%) +3.05 *2.13 +1.96 242 £2.04 +2.60
= = FE 36.75 33.51 36.18 34.42 36.41 36.95
e (X107 +4.8] +5.49 +10.00 *6.44 +7.79 +5.59
G| (21 | ek - 50.63 48.91 45.60 48.03 50,44 42.19%
B st *4.11 +£599 +8.96 +4.54 +3.59 +6.83
P g |@100mW) | (7 3415 3.442 3.445 3352 3412 3477
+0.365 +0.149 +0.175 +0,188 +0.156 =0.213
MEH 376.55 186.61 402.22 388.24 382.85 367.1a
(X 107%) 44535 +31.25 +40.58 +30.80 +24,55 +28.30
R EE 71.60 75.17 82.50 72.63 72.26 43.40Va
(X107 +10.30 +12.73 +24.56 +6.60 +6.30 +20.07
BT ER 31.55 27.62 31.55 28.65 - 20,77 28.81a
(X307 +8.75 +6.71 © +4.56 +5.9] +5.11 =+5.03
i | AR E 48.96 45.63 43,69 45.11 48.81 42.05
£5.75 +4.92 +9.34 +3.85 +4.06 +4.71
BFiE 3.462 3.430 3.461 3,427 3,500 3.543
+0.224 40,129 +0.120 +0.158 +0.100 +0,196
DRE: 17.79 16.57 16.53 16.12 17.43 16.85
(X107 +4.03 +4.13 +3,12 +56] +4.42 +4.25
s 75.14 73.77 85.14 76.35 74.15 87.93
(X107 +53] +11.10 421,43 +13.39 +14.91 +10.44

a ZLEHEREFL 1 AIEBRN (FE 26.1g, [T 0.87g, 455 80.8mg, F3 E4F 6.9mg, ATIZIR 2.8me).
— @&ETEERAE L. T 1 fER, AV :P<0.05 AY :P<0.01
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63 HE | R 150.5 189.6 183.6 188.5 185.7 175.8
EEE(e) +16.7 +14.9 +16.3 +5.0 +16.3 +10.8
FEB 1.554 1.493 1.516 1.540 1.488 1.863 1
+0,144 +0.100 +0.099 =+ 0.068 +0.092 +0.232
B LR 0.255 0.241 0.281 0.263 - -0.263 0.106V
+0.046 +0.045 +0.096 =+0.064 +{.048 +0.101
g3 0.205 0.197 0.200 0.204 0.196 0.209
=+0.062 +0.047 +0.032 +0.046 +0.047 +0.033
B Rl 0.073 0.074 0.073 0.074 0.080 0.085
+0.023 | 0032 =+0.024 +0.019 +0.023 +0.012
B 68.10 65.99 65.42 61.01 62.33 28.66Y
(X107) +13.96 +10.49 “10.37 +4.94 +10.45 +17.27
iG] 69.46 6539 .65.68 68.52 71.34 57.10
(X 107) +18.32 +12.53 +11.38 +7.16 £11.59 +7.69
M [ Bk E 178.4 160.5 158.3 163.3 174.7 165.7
*31.1 #13.9 +10.8 4157 +82 +19.8
BRE 8235 73.72 75.21 80.56 81.02 78.33
(X107 £9.84 +16,65 +7.50 +12.40 +14.07 +23.71
" B2 3= 0.458 0.437 0.413 0.453 0.433 0.470
= . +0,131 +0.139 +0.158 =0.180 +0.164 +0.165
B = (6RiE it R E 190.5 189.6 183.6 188.5 185.7 175.8
| g s £16.7 149 +163 +5.0 +163 +10.8
(8/100gBW) [a 0.819 0.788 0.828 0.818 0.805 1.060.A
+0.073 +0.04] £0.059 - 0.032 +0.051 +0.111
B ik 0.136 0.127 0.151 0.140 0.143 0.061V¥
+0.030 +0.024 +0.040 +0.034 .} 0027 —+0.062
BT 0.105 0.102 0.108 0.108 0.103 0.119
+0.027 +0.019 +0.013 =+0.023 +0.020 +0.016
BiTSE AR 0.039 0.037 0.040 0.038 0.043 0.046
£0.011 +0.017 =0,011 =+0.009 +0.011 =+0.005
B 35.57 34.74 35.85 32.40 33.51 16.59%¥
(X103 +549 +4.42 £6.12 +3.04 +4.40 +10.79
AT PR 2R 36.45 34.44 35.68 36.47 38.42 32.60
(X107 +9.20 +=5.80 +4.47 +3.83 +5.21 +4.76
i | Bk E 178.4 160.5 158.3 163.3 174.7 165.7
+31.1 +13.9 +108 +15.7 +8.2 +19.8
BRER 46.99 45.66 47.56 49.48 46.33 46.67
(X10%) +7.81 4778 +4.00 +7.20 +7.37 +10.21
FE 0.258 0.272 0,257 0.282 0.249 0.290
+0.079 +0.083 +0.089 +0.119 =+0.095 +0.108
—EBERTSEFRRARL. 11 R, AV P<0.05, AV P<0.0l




2. FlEpos i ENE HE—6  BEEE)
% #oF0 IR :F
BEE 0u glkg 2 uplkg 12 1 g/kg 60 i glkg 300 g/kg | 500 mgikg
1038 5 Pl B g Y 397.1 390.3 405.8 403.8 3912 372.5
EER () *31.5 +22.7 +203 +17.8 +37.7 +276
Hid 1.956 1.931 1.979 1.961 1.948 1.508
+0.086 +0.089 =+0.049 +0.056 +0.074 +0.068
T&ME 10.33 995 10.78 1044 10.38 10.32
(X103 *0.86 +0.77 +0.77 +1.19 *1.34 +0.68
BRR 26.27 23.51 2529 24.67 23.57 24.03
(X109 *5.67 +2.54 +5.61 +2.51 +4.56 +8.30
BB 709.8 714.0 7094 762.3 760.1 717.5
(X107 +99.7 +128.1 *116.2 *109.4 +180.0 =+190.3
B g 17.689 17.435 17.846 17.802 17.776 16.803
“1.842 +1.629 +1.883 *1.373 +£2.797 +3.302
R fit 3.293 3.306 3.495 3.437 3.347 2.955
+0.385 0,304 +0.331 =+0.296 =+0.464 +0.246
BIE 58.05 54,04 56.43 55.16 55.85 55.75
(X107 +6.39 +7.24 +4.28 +3.13 +7.28 +8.82
LX) 0.948 0.898 0.918 0.846 0.979 0.860
=+0.140 +0.131 +0.105 +0.075 +0.124 T #0.104
PR 2.845 2.778 2.793 2.794 2.792 1592V
+0.164 +0.144 +0.142 +0.080 +0.108 +0.443
Wk 0.851 0.820 0.829 0.813 0.815 0.386¥
=+ 0.061 +0.032 +0.044 +0.027 £0.055 +0.181
B 1.855 1.706 1.923 1.851 1.805 1.409W
#0250 =+0.190 =+0.128 +0.211 +0.209 +0.310
B SEIB 0.495 0.489 0.495 0.505 0.444 0.393%
an +0.077 +0.101 =+0.053 +0.066 40,071 =+0.067
17 A 0.168 0.164 0.173 0.169 0.168 0.104¥
= +(.020 +0.017 +0.019 +0.020 +0.022 +0.043
% 5 BT PRZE 1% 250,72 233.78 249.08 238.09 249,28 232,60
% (%107 +42.50 +39.63 +41.01 +48,55 =+39.56 +37.21
L i | Bk E 254.9 254.8 250.6 262.6 260.2 248.7
+20.0 +143 *15.1 +12.6 +115 +14.3
Fi 1.778 1.774 1.776 1.786 1.791 1,783
+0.110 +0.073 +0.056 +0.039 +0.036 +0.068
Tk 9.83 9.37 9,63 9.27 9.55 .14
(X10%) +1.12 +1.18 +1.09 +1.03 +0.85 =0.80
R 18.45 19.35 22.58 19.63 21.65 22.25
(X107 +3.21 +3.71 +4.02 +4.95 k412 +472
Nk 580.7 555.8 555.8 609.2 599,5 529.3
(X107 +80.8 +54.5 +76.6 +103.0 +134.6 +101.7
g 11.724 11,991 12.437 12.567 12.442 11.720
*1.374 +0.943 =+0.861 +1.057 £0.605 =+ 0.540
B2 st 1.966 1.931 2.038 2,030 1.996 1.821
+0.178 +(.135 +0.110 +0.159 +0.111 +0.122
B 72.66 72.55 71.63 75.53 70.69 71.32
(X 10%) +4.99 +£8.44 +7.09 +7.88 +£8.30 +830
[T 0.748 0.757 0.767 0.749 0.798 0.752
+0.137 +90.111 +0.111 -+ 0.049 +0.111 +0.087
BREL 115.93 122.03 121.18 119.43 126.02 112.38
(X107 +16.24 +14.74 +21.00 4+13.61 +10.83 =19.05
TE 0.585 0.613 0.588 0.523 0.577 0.696
+0.215 *0.,220 +0.217 +0.18] +0.193 +0.248
FEAERIH 0.765 0.810 0.772 0,665 0.752 0.884
+0.147 +0.098 +0.127 +0.153 +0.073 =+0.054
wFEEH 0405 0.415 0.403 0.382 0.402 0.444
REFRLES  +0.05) +0.056 +0.080 +0.018 +0.049 +0.040

— RS SEFRAL. T EHA, AV P<0.05 AV P<0.01
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2. FIEMORBERNE BE—7 . REEE)

LR #w.r0 R
BE5E 0u g/ke 2 plkg 12 1 g/kg 60 u g/ke 300 g/kg | 500 mglkg
1038 % I HmRE 397.1 390.3 4058 403.8 391.2 172.5
SHEEL +31.5 +22.7 +20.3 +17.8 +37.7 +27.6
{2/100gBW) P 0.494 0.496 0.450 0,485 0.500 0.515
-+0.024 £0.020 +0,023 £0.019 +0.036 +0.029
T 2.61 2.55 2.67 2.61 2.65 279
(%107 *0.17 +0.16 +0.20 +0.28 +0.21 *0.25
A 6.61 6.05 6.23 6.10 6.07 6.44
(X107 +1.28 +0.73 +1.26 +0.61 +1.18 +2.16
[oE 179.36 182.98 174.33 . 189.19 196.28 191.65
(X 10%) +25.67 +31.35 +22.60 +29.28 454,17 +43.39
Tl 4.480 4.463 4.391 4.406 4.544 4,496
+0.628 +0.237 +0.277 +£0.228 +0.587 +0.364
3] 0.826 0.847 0.862 0.853 0.855 0.794
+0.050 =+0.055 =+0.064 =+0.079 +0.068 =+0.031
e 14.61 13.50 13.95 13.67 14.30 14.90
(X107 +0.95 +1.87 +1.45 +0.54 +1.30 +1.48
[ET 0.239 0.230 0.228 0.211 0.251 0.232
+0.035 +0.030 +0.029 +0.016 +0.030 =+0.030
R 0.719 0,713 0.689 0,693 0.718 0.431¥
=+0.050 +0.047 £0.044 +0.035 +0.054 +0.140
FER A 0.215 0.211 0.206 0.203 0.208 0.106¥
- +0.014 +0.010 +0.014 =+0.009 £0.013 +0.057
P 0.469 0.438 0.474 0.458 0.465 0.382V
+0.066 =+0.042 +0.020 +0.053 £0.058 +0.100
R AR 0.126 0.127 0.123 0.126 0.114 0.107 |
u +0.023 +0.025 +0.014 +0.017 +0.016 +0.025
®| i 0.043 0.043 0.043 0.042 0.043 0.0297
B +0.006 =+0.005 +0.006 +0.006 +0.007 +0,011
5 & [N 63.25 59.92 61.51 58.77 63.61 62.71
i (X10%) +9.04 £9,2] £10.58 +10.61 +6.85 10.7)
3 W | B isaE 254.9 254.8 259.6 262.6 260.2 248.7
+20.0 +14.3 +15.1 +12.6 *11.5 +14.3
i 0.698 0.698 0.685 0.683 0.688 0.720
+0.034 +0.027 +0.028 +0.035 +0.026 +0.035
Y 3.86 3.67 3.72 3.53 3.66 3.69
(X 10% +0.42 +0.31 +0.26 +0.42 +0.26 +0.35
R AR 7.31 7.65 8.79 7.51 8.38 .98
(%10 +1.59 +1.65 +1.87 £2.00 +1.93 +2.05
Hajs 228.06 218.88 214.03 232.16 229.76 21230
(X107 +28.62 +26.37 +26.39 +37.27 +46.45 +137.73
[ 4.591 4,706 4.750 4,783 4,785 4.712
+0.247 +0.307 +0.156 +0.237 +0.188 +0.273
I 0.772 0.75% 0.788 0.773 0.768 0.734
=+0.034 £0.042 +0.048 +0.048 +0.049 +0.048
B 28.57 28.60 27.64 28.78 27.15 28.72
(X10%) +1.79 +2.40 +3.03 +2.97 +2.76 +3.50
[y 0.254 0.295 0.297 0.287 0.306 0.305
*0.051 +0.037 +0.046 +0.021 +0,042 +0.034
[HES 45,50 47.85 46,76 45.44 48.44 45.26
(X10%) +5.57 +4.67 +8.08 +4.25 +3.67 +7.92
FH 0.229 0.242 0.224 0.199 0.221 0279
+0,077 -+ 0.088 +0.077 +0.070 +0,071 +0.096
FHIE R 0.297 0.317 0,292 0.253 0.285 0.350
+0.039 =+0.055 +0.038 +0.056 +0,029 +0.007
BREER 0.162 0.167 0.157 0.143 0.157 0.182
FEAEAAER)  +0.026 =+0.020 +0.024 +0.010 =+0.023 +0.023
— D EETAEFRZL. 1L M, AV P<0.05 AV P<0.01
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2. FI M ORBREREE BE—8  REMIIFTA)

A% #w.rF0 1B:FI
BEE 0uglke 2uplkg 12 u glkg 60 1 g/kg 300 gk | SO0 mgikg
p W=D - - - - - N
1’ N W - - - n . -
D’J
gy|  |GEEG | RERELEE R - - - - 78
1 Wy - - - - . 778
% Blg BRILE - - - 1/12 - 1/8
HiE | o) - - 1112 - -
1088 | HE TR AN - - - - - 711
gl - - - - 5/11
b E - - - - 711
s NE - - - - 5/11
BhE EEIE - - - - 1/12 -
T i - - 1/12 - -
i - - - - - 1/11b
fERASH - - - - - 1/11b
RE £/ 1 - - - - - 111b
i - - - - - 1/11b
B ik Ein - - - - - 1/11b
i - , " : - 1/11
HEh | SR IR - - - 1/12a - 12112
e mik - - - - - 112
22'_235@ BB iE R 1/12 - - 1/12 a - 12/12
e AR ¥ - - - - - 1712
HE4R B - - - - - 1/12
GORTA" SN - - - - - 2/12
Ry - - - - - 12112
HARRIE
HREREA~ =T - 1/12 - . i
I (9REL i - 1/12 - - N
FE ZEHE - . - - - 1/12
Bd AR ETLAR - - - - - 1/12
— D REREETREHRRARL.
a: A—Eh4p.

b: A—Br (EDBEERLEAD .
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2. Fl HNORBEREE (-9  MEHEANTR)

A 2 #®:F0  E:FI
& 58 E| Opghke 2pplkg 121 glkg 60 1z p/kg 300 u g/ke 500 mg/kg
B TES <12># <12> <12> <12> <12> <11>
BiEDEE ] 2 ] 3 2 ] 3
2 0 0 0 0 0 0
3 0 0 0 0 0 0
PR <12> <]2> <i2> <j2> <j2> <l1>
B MR EE | ] 0 0 0 0 0 0
2 0 0 0 0 ] 0
3 -0 0 0 0 0. 10
HERO ] 0 0 0 0 ] 1
HIEEMIE 2 0 0 0 0 0 0
3 0 0 0 0 0 0
HR L% <12> <12> <12> <12> <12> <8>§
T Db 1 0 0 0 0 0 0
2 0 0 0 0 0 0
3 0 0 0 0 0 9
BEMEY o3k ] 3 4 3 6 6 2
#A e |2 0 0 0 0 0 0
4 3 4] 0 0 0 0 0
R I <12> <12> <12> <12> <12> <11>
. B UVBPE R FE2 2 g g g g 8 (1}
g HENE R
B, =i 3 0 0 o : . :
B ) RIESZAR <12> <]2> <12> <12> <12> <l>
; . - - - - .
» 10 ERE AR <]12=> <12> <12> <12> <]17> <11>
THBHEY 13K i 7 6 0 2 5 0
pIc =3 2 0 6 0 0 0 0
BE 3 0 0 0 0 0 0
LS <12> <12> <12> <12> <12> <7>$
it | T EAE <12> <11> <12> <12> <12> <11>
BEEO T 1 0 . ] 1 0 2 1
2 0 0 0 0 0 0
3 0 0 0 0 0 0
PR <12> <12> <12> <12 <12> <11>
FE <]2> <12> <12> <12> <12> <11>
ARSI 1 0 0 0 0 0 la
2 ¢ 0 it 0 0 0
3 4] 0 0 0 0. (]
e <12> <12> <]12> <]2> - <]2> <11>
JpE <]12> <]2> <]12> <]2> <12> <]1>
#o < SIBESERT. BE:1, BE;2 PHE,;3 EE - EETSEEIREL

$ @ L FITE L /MR bR R LIESERERE.
b BEOMEET LB
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9. Pl B ORBRES BT (BE— 1 0 ARLE S BERE, mRNA %)

A% w.F0 1E:.Fl
kEE 0uplkg 2 glkg 12w a/kg 60 u glkp 300u g/kg | 500 mpkg
1098# [ |LHng/mL) 2.05 2.23 2.29 2.38 2.48 2.85A
+0.27 +0.17 +0.35 +0.36 +0.43 +0.58
FSH(ng/mL) 12.02 12.76 13.11 13.22 14.24 1632A
i +1.60 +1.40 £1.00 +2.03 +2.42 +1.61
=t} Testosterone 4.03 3.83 3.80 315 4.70 2.94
7+ (ng/mL) +0.9] +1.82 *1.58 *0.73 *£2.87 *1.14
A DHT(pg/mL) 345 249 275 194 290 196
S 145 +74 +108 +49 +162 122
v It {LH(ng/mL) 1.88 1.98 1.87 1.87 2.09 1.98
o +0.21 +0.43 +0.14 +0.21 +0.16 +0.11
4 FSH(ng/mL) 4.22 3.74 3.55% 3,56 3.85 4.11
0,70 -+0.58 £90,71 £1.00 +0.42 +0.05
Estradiol -17 8 103.3 105.3 93.8 85.1 83.6 876
(pg/mL) +30.7 +142 +18.6 4241 +23.2 +17.2
TN [ R AR 0.640 0.493 0.597 0.660 0.666 0.752
+0.190 +0.183 +0.117 +0.095 +0.108 +0.162
ERc 0.096 0.095 0.071 0.109 0.115 0.070
+0.025 £0.019 £0.011 +0.012 -£0.022 +0.018
1" ER 0.0698 0.0646 0.0545 0.0737 0.0612 0.0086'Y
+0.0203 =+0.0323 +0.0231 +0.0176 +0.0070 +0.0026
BB i |AR 9.12 7.00 6.85 6.09%V 6.78 6.39
+1.37 +213 +1.08 +1.78 +1.52 +0.26
FR o 0.0149 0.0160 0.0109 0.0136 0.0120 0.0176
+0.0036 +0.0030 +0.0030 =+ (0081 £0.0023 +0.0028
ER 3 0.0475 0.0494 0.0524 0.0474 0.0507 0.0559
i 20,0133 40,0194 =+(.0093 +0.0179 +0.0151 +0.0240
BIAME AR 5.18 3.77 4.66 3,15V 3.75 3.32V
m +1.17 +0.64 +1.53 +1.05 *0.58 +0.31
R ERa 0.0372 0.0306 0.0312 0.0484 0.0336 0.0312
N +0.0451 +0.0096 +0.0213 2 0.0440 +0.0362 +0.0125
A ER f 7.01 6.35 R.03 7.28 6.25 7.59
+1.72 “+1.00 +1.33 +2.03 +0.92 +1.40
i | BABE AR 1.84 1.44 1.56 1.07V 1.69 0.98V
+0.67 +0.50 +£0.49 +0.13 +0.38 +0.26
ER o 0.253 0.375 0.276 0.239 .240 0.293
=-0,070 “+0.176 +0.071 +0.070 +0.084 +0.087
ER 8 1.545 1.689 1.517 0.858 0.867 0.795
+1.158 +1.169 +0.520 +0.265 +0.198 +0.348
FE AR 1.74 1.45 1.46 2.15 1.58 1.12
+0.56 %021 +0.56 £0,39 +0.38 £0.48
ER o 0.739 0.597 0.710 0.725 0.738 0.627
+0.126 -+0.089 +0.177 +0.128 +0.073 +0.130
ER 8 0.0122 0.0148 0.0141 0.0189 0.0232A 0.0198
=+0.0040 ~+0.0030 +0.0021 £0.0051 +0.0027 +0.0087

1l : 4 A, AV :P<0.05 AY :P<0.0l
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